Review for Quiz — Riemann Sums, the Definite Integral, and FTC, part 1

Name:
AP Calculus

Answecs

1) Use a right-hand Riemann Sum, using three intervals, to find the approximate value of f06 fx)dx
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f(x) 200 160 100 5
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2) Is the right-hand sum you found above an overestimate or underestimate of f ¢ f(x}dx, given that
f(x) is decreasmg and dlfferentlable over its whole domain? Explain your answer clearly and completely.
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3) Show a sketch of what f _2(x — 1) dx representsand then find the value of the integral.
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4) The function shown is f((—)‘]d the values offeach definite integral below:
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